Calculus I: MAC2311 Name: Ke L\
Spring 2024 U

Exam 1 A Section:
1/31/2024
Time Limit: 100 Minutes UF-ID:

Scantron Instruction: This exam uses a scantron. Follow the instructions listed on this page to fill
ont the scantron.

A.

Sign your scantron on the back at the bottom in the white area.

. Write and code iu the spaces indicated:

1) Name (last name, first initial, middle initial)
2) UFID Number
3) 4-digit Section Number

. Under special codes, code in the test numbers 1, 1:

2 3 4 5 6 7 8 9 0
2 3 45 6 7 8 90

. At the top right of your scantron, fill in the Test Form Code as A

e B C D E

This exam consists of 14 multiple choice questions and 5 free response questions. Make sure you
check for errors in the number of questions your exam contains.

The time allowed is 100 minutes.

. WHEN YOU ARE FINISHED:

1) Before turning in your test check for transcribing errors. Any mistakes you leave in
are there to stay!

2) You must turn in your scantron and free response packet to your proctor. Be prepared
to show your proctor a valid GatorOne ID or other signed ID.
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It is your responsibility to ensure that your test has 19 questions. If it does not, show it to your
proctor immediately. You will not be permitted to make up any problems omitted from your test after
the testing period ends. There are a total of 105 points available on this exam.

Part [ Instructions: 14 multiple choice questions. Complete the scantron sheet provided with your
information and fill in the appropriate spaces to answer your questions. Only the answer on the scant-
ron sheet will be graded. Each problem is worth five (5) points for a total of 70 points on Part I.

1. Find the domain of the function f(z) = /z + v4 — z.

(A) (=00,0) U (4, 00) (B) [0,4]

(C) (0,00) (D) [0,4] U [4, 00)
We e X 20 el L-x ZO
Se, XZ0 ook H =<
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2. Find the vertical asymptotes of f(z) = if_g’ . =7 ( X, ':’)) Z/ )( -I' 5) -

(A) z=-3 (Byz=-3,z=3

(@z 3 D)yz=1 (E) There are no vertical asymptotes.

xf,g) jsﬂl\olé“’:‘»m n .
>(7 z 5 The V(/Kﬁcwq étfdw\fﬁ)ff,
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. o 4 .
3. Evaluate lime 7r° - sinmrt2
z—1

(4) e (B) e \’ (C)e® 6_5 (E) Does not exist.
This 15 (onhnu@UuUS, SO plug (n k=1
Cx sk 42

\IW\€ B ~Tl—sn [+ 2
K> < |
-S -0 _< |
- /e/ - l e |

4. Evaluate lim
z—0

VITE -3 US? (On‘ju‘acde ,

e % ©) -7 (D) % (B) -}

L T2ev -2 ) ({Z+x ¢+ 2)

x>0 X ([2+% iz
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5. An objcct moves along a straight linc with position function given by s(¢) = 2¢2 — 3t + 1, where
s(t) is measured in feet and ¢ in seconds. What is the average velocity in feet per second of the object
over the interval [2,4]?

(A) 18 (B) —18 @ (D) -9 (F) None of these.
Auerage . S () -5C2) (slope formuta)

Velomh(f :(, 7 1
_ 2(N-3E) 1~ (2-2—5(2%3

L{—-Q_
- 321241 = (g-l+N=21=3 _|q
| - -2

o {0 e need 10
psider The
rﬁh() O}' /éﬁt/’”’ﬂ

(A)a=6,b=1 (BYa=6,b=2 =12,b=1 {,05#60(%@

(D)a=12,b-2 (E)a=12,b=4
jwey e

S T st 4N
1 Irj unh| one wores

3b

For which of the following values of a and b will le flz) =47
=0
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7. Let , .

o-{ih 15 SN
Calculate the value of k for which f(z) is continuous at z = 4. ‘ U i h y - L‘
(A) k=0 (B) k=1 (C) k=2 8({(///\,

}pat/%.

(D)ghrems=l _
VT Ao
et il x>4*t
b -k = HK+420
0= KZ+HK+H

0= (IK+2y

\=-2

8. For which of the following functions is Ihg+ f(z) = 00?
z—

(A) f(z) = In(2) (B) f(z)=c" (C) f(z) =22
(D) f(z) = sin (z) @(z) = ;15 - __.\_-——-

“Drew hem! ﬁ@’/j
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¢ _(j_ R
9. Calculate lim )
z—2- T —
(4) 3 (B) 0 (C) o0 @oo (E) Does not exist.

Test X=19

10. What type of discontinuity does the function f(z) = 224 have at v = 27

=2
(A) An infinite discontinuity. @ removable discontinuity. C l" v / C)
(C) A jump discontinuity. (D) There is no discontinuity at =z = 2.

J}()qz B = CX/?’)(’_(__{/__Z) = X+2
X—2 =2

XF 2
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11. Let f(z) =

xr—1
Which of the following statements are true? Multiple statements may be true. %ﬁ

P. f(x) has a jump discontinuity at x = 1. -~

Q. lim f(z)=1 -
s /s Nnuf & vVevbe A

ﬁ\)gmloi’?ff ﬁlf‘

% f(z) is continuous from the right and continuous from the left, but not continuous at = = 1. bolh asrt
open cevelef
(4) P only and Q (C) Q and R (D) P, R, and S (E)P,Q,and S oAt
Graph £ 00= Y
l —
L =t _ hm X
SN B TR v U
X7l 0)
_ ' < '
)(m X \ “IV\/ ,)_(_— ew
1= il x=17 (e
12. Which of the following statements is true? (Only one statement below is true.)

yelxl s ot i i enfisb“
L i pgp st muss

B. Rational functions h(z) = f () are always continuous. H‘l [ 5¢C- \/ X-1

93
-3
Sem ﬁ"" cpm s S
2T ofyny fote §
@A function f(z) can have infinitely many vertical asymptotes. ]’rue

LAY
Xa: = 1 is a vertical asymptote on the graph of f(x). T:ﬂ lse. A JM P

(

A. Every continuous function f(z) is also differentiable. F 4 (§¢ -

C. Every function f(z) has one or two horizontal asymptotes. l”ﬂ/ ¥

(A) Choice A (B) Choice B (C) Choice C @Choice D
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13. Suppose lim f(x) = 2, lim g(z) = 0, lim h(z) = oo, lim j(z) = -2, and lim k(z) = —oco. Which
z—1 z—1 z—1 z—1 z—1
of the following limits does not result in an indeterminate form?

e

9@ =0 -
(4) chl_)ml flz) + j(=z) o) (B) 3:—»1 h(z) oo

. f@)j) _ te-H Y
DVin =" S

A

—

10_H2) = 22 (0) jim hajg(e) = 02 < 0

W 1

(E) None of these.

= O) whivh is not INiCN/l’Wm/Jf :

Wvod-;vﬂ'
14. Find the slope of the tangent line to f(z) = L at z = 3.
oF @4 GF (D) -3
Stope = Jgacmfoxer) - F00
hao e
S SR Y
= \tm T T
"\40 _-——————:‘__
, — (X +h) , - K
= i X L)( R - | (v~ /"’:\ _ lim -\
o Balhaai Lo KexeRl o kA X(krh)
~ < 1
| X
-SO) IL@ = —"‘_2
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Calculus I: MAC2311 Name:
Spring 2024

Exam 1 A Section:
1/31/2024

Time Limit: 100 Minutes UF-ID:

Part II Instructions: 5 frce responsc questions. Neatly give a complete solution to cach problem and
show all work and intermediate steps. We are grading the work and notation as well as the answer.
Each problem is worth seven (7) points. A total of 35 points is possible on Part II. No credit will
given without proper work. If we cannot read it and follow it, you will receive no credit for the
problem.

For Instructor Use Only:

FR 1

FR 2

FR 3

FR 4

FR 5

Total Points
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L. Evaluate f'(z) for f(v) = -L5 using the limit definition of the derivative. NO CREDIT will be
given if the limit definition of the derivative is not used. You can use either definition 1 or definition

z‘[lrl

“ion- i Sous o
V\%O ’-\-/V\ B /\—’ \ y,?//r{@z/‘
=\ ez | x-z = 1IN V(-2

o

I e hso Lo x
W 1\
,:—""'"// /
= e 0B = e g e
W0 \~
| l
=\ Z/W

&= (\(_q:\ékl')—\ \ L/xai)’/j

7
Dig'{q%»-\\m ﬁiﬂ;__(_fd
X == (x-2)
\gn —— - =5 L @22 T
= X-z T T yooa M
Y—é@"—’fﬁ:——— ' | X — A
= i %2\ _ i %\° ";L/"Z
W oo (-2 A x> o (2
N _\
T e e (DA (4-2CA2) 4
A -
310D (x-2)" |

e

e
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2. Given the two functions helow, explain why you can or cannot use the Intermediate Value
Theorem to determine whether there is a root on the given interval. If you can use the Intermediate

Value Theorem to show the existence of a root on the given interval, do so. Explain using complete
sentences.

(i) f(z) =2z + 3z — 1 on the interval (0,1).
:\:(x\ S 4 on hnuous jcu.nutuiw Since + IS &
‘Pot}mwd O_ppba'

-\?(o\:“\ < O

:S:(_D‘f 4 - O
Since T < 0 < Sr(l\) Ther ¢ ¢ x(S{S Some
Cn (0,0 suth Trakb £ = O.ba (UT.

(ii) g(z) = L5 on the interval (—1,1).

z—1

\ M ¢ ¢ anroT  Lse VT sun ce S(Q 'S not
Lonthnuous ad X=1(.
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. . 1
lim z%sin | = ).
r—0 T

Show all work and state any appropriate theorem(s) used in your reasoning.

We now Trak for all X neat O,
¢ s(x) ¢
W\MHP% ﬂf\/f\mﬁk loxa 1'%
_y* 4 (Zsin () £ K7
Noha Thodt -,
i -k = lm X =0 m/éﬁ/p
Y= 0 X~ 0 M
by Tha SW’CC-- Ihedrem,
;o

1 \(VY\ YS(V\C)( - -
RGY g

3. Calenlate
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z+2 ifz<0
4. Let f(z) = q |2 if0<z<l
Ve o ifz>1

(i) With the space provided below. carefully graph f(x). Take care to label open and closed circled

¥ x

correctly.

(ii) Does f(z) have any removable, jump, or infinite discontinuities? If so, explain why (using limit
statements) and provide the z-values for everv discontinuity f(z) possesses.

lW\ P =2 ound )l((vxz)\ fixy=0.

r\/\avd‘we 1C 1) has a J“”L‘[} cmconﬁmtw;/
ot X=0

X\~ s 1T
oweved Loy s uﬂd/eﬁmecﬂ

TNovefore, Ful has a Vemowabk
cuswn\mmvé o X=1 -
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5. Use the given graph of f to state the value of each quantity, if it exists. If it does not exist, write
"DNE”. You do not need to provide an explanation for these.

ya I
P
§ /,/
%72 o
B IR
~ L 1/
L[
L iD= O 5. lm fl)= |
2 Jm fle) = 830 6. Im f)= DNI[=
3 iligl fl@)y= 23] 7. Jcli)rzlocf(ac)z —-2_
4. lim f(z) = OO 8. lim f(z)= 7



